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B.Com. (Part-III) Examination, 2024
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(Faculty of Commerce)
Accountancy and Business Statistics
Paper-1

(Auditing and Management Accounting)

Time Allowed: Three Hours Maximium Marks: 100
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Attempt any five questions in all selecting one question from each unit.
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No Supplementary answer-book will be given to any candidate. Herice the candidates should write their

answer precisely in the main answer-book only.
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All the parts of one question should be answered at one place in the answer-book. One complete question
should not be answered at different places in the answer-book.
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Write your roll number on question paper before start writing answers of questions.
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UNIT-1/ 315-1 A
1. (a) Distinguish in Fraudland Error? | [10+10=20]
(b)  Briefly explain the difference among Book-keeping, Accountancy and
Auditiﬁg.
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What is Audit Programme? Discuss essential elements of a good audit
programme. { | [5+15=20})
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UNIT-I1 /mﬁ-n

How will you verify the following -

@) Goodwill (i)  Stock

(i)  Contingent Liabilities (iv) Trade Creditors
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What are the provisions of the Companies Act, 2013 regarding removal and

remuneration of auditors?
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UNIT-III / s&E-111

Describe briefly the provisions of the Companies Act, 2013 with regard to rights
and duties of an Auditor. ;
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OR /31204t
What do you understood by clean report? Distinguish in clean and qualified

report. Draft an imaginary clean report in the manner prescribed under the Act.
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UNIT-IV /g&18-1v

“Capital structure does not matter”. Critically evaluate the statement in the
broader context of the contribution of Modigliani-miller to the theory of capital

structure. '
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(@  If the combined leverage ang Operating leverage figures of a company
rage and P/V ratio

given that the equity divideng per share is ¥ 2, interest Payable per year

" i : \
are 2.5 and 1.25 respectively, find the financial leve

is X 100,000, total fixed cogy 2 50,000 and sales ¥ 10,00,000, [8+12=20]

(d)  The Bharti Limited’s Capital structure consists 12000 equity shares of

< 10 each and 10% debentures of T 1,60,000. Whereas the total assets of

the company. are ¥ 4,00,000. The company total asset turnover ratio

is 3. Its fixed operating costs are Z 2,00,000 and its variable operating
costs ratio to sales is 40%. The income tax rate is 30%.
Calculate for thé company all the three types of leverages. |
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| UNIT-V /5&15-V
5, Wijte short note on the foll\owing ~ [6+7+7=20]
@) | Comria;ative statements
(i) Coﬂimon-size statements
_(if))  Trend Analysis
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given the followmg mformation pertaining to financial statements of
Harsh Lid, v are reg

Juired (o prepare, Statement of Profit & Loss and Balance
Sheet,
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Net Curreng Assets 1,00,000
Paid up Capital 3,00,000
Current Ratio . 1.8:1
Liquid Ratio 1.35¢ 1
Fixed assets to Shareholder’s Equity 80%
Gross Profit Ratio 25%
Net Profit to Paid Up Capital 20%
Inventory Turnover Ratio _ 5

(Based on cost of revenue from operations)

Times Average Age of outstanding customers 36.5 days

[4+16=20]




